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Stiffness equation for a plane member
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1.{25 Aruun) wiwersflanafnluplivanfudadeu  bending moment diagram ( use moment distribution with

successive sway correction )
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2.(25 pziw)  Irseaialugudneans Fuusanszin ( working load ) Aauandlugl  Sainwuelil load factor = 2.00
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3. (30 mruuu) Using the portal method, (an approximate lateral load analysis for frame structures), determine and

sketch the bending moment diagram and the shear diagram for the structure shown below.
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4.(30 AzuUW) AR displacements 189 joints BN 189 a plane truss 'lu;;ﬂ-tha"mﬂ udaunpi axial forces Tufudau ab uay da
wazliusas matrices s1e ) darallifn
{a). transformed stiffness matrix ﬁ'mi"u%umuﬁiwj
{b). stiffness matrix &wiularaii truss ( matrix of order 5x5)
(fwuald E= 2x10° kwm®  dwduyndudon, A=ax10 T m° AwiLAugausLuesIAY,

s a X Z 5 -
W A =42x107 m? Amfviudouuwanzuey,  dude EAL = 2x10°0 kN/m o Awiunniugou)
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5.(25 AzWUW) Using the direct stiffness method {neglect axial deformation of members ), establish the stiffness

matrix , { matrix of order 4x4 ), for the ptane frame shown below. And then determine all joint displacements of

8 2 - 4
the structure.  (Given E= 2x10 kN/m , U&ax 1=6x10 ’ m )

w =12 kN/m 32 kN




